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Instructions for Candidates

. Write your Roll No. on the top immediately on receipt
of this question paper.

2.  Answer any five questions out of eight.
3. All questions carry cqual marks.

4. Answers may be written either in English'or Hindi;
but the same medium should be used throughout the

paper.
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1. Outline the reforms that have beeﬁ initiated in the

tariff measures in India’s trade policy since 1991.

What does a comparison of India’s Average MFN

Tariffs with Tariffs of APEC (Asia Pacific Economic

Cooperation) economies reveal? (10+5)
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2. India had become a much more open economy since
1991 as compared toipre—liberalisation phase. Do you
think an inward orientation based on the recent
initiatives of atmanirbharta may confine the Indian

economy to mediocri.ty? Why or why not? - (135)
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3. What do you understand by Global Value Chains

(GVC)? Analyse the performance of India in the global
value chains during 2005-2015 period. (5+10)
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4. Critically examine the flexibility-rigidity debate with -

special reference to the Indian labour market.

Enumerate some important labour market reform

measures undertaken since 2015 by the central

government for the benefit of workers and employers.

| ‘ (7.5+7.5)
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5.  The pace of growth in farmer’s incomes that started
in 2004-2005 could not be sustained after 2011-2012.
What are the factors that contributed to the above

phenomenon? Discuss the factors that led to distress

among farmers in recent years. (7.5+7.5)
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0.

farm
Critically analyse the impact of the now repcaled

ricultural
laws on increasing the farm incomes of the ag

(15)
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What do yoﬁ understand by “Stigmatized Capitalism”?

. In your opinion, what does India stand to gain or lose

by following this model? , (5+10)
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What do you understand by"J'obless growth?’

- Briefly discuss the Indian experience with regard to

growth and employment generation since
independence. | (5+10)
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